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QUESTION 1

In a SIP direct call setup, what message does the originating UAC send to the UAS of the recipient?
A. INVITE

B. Ringing

C.ACK

D. OK

Correct Answer: A

QUESTION 2

SIP Server starts successfully. However, its status on SCS is "Service Unavailable" and SIP Server distributes
EventLinkDisconnected to clients. Which of the following circumstances would be responsible for the status and
EventLinkDisconnected message?

A. Stream Manager is not registered with SIP Server

B. Media Gateway is not registered with SIP Server

C. SIP Server fails to open the SIP port

D. The network is down

Correct Answer: B

QUESTION 3

When using the REFER method, where would you specify the party the call is being transferred to?
A. Refer header URI

B. To: header

C. contact: header

D. REFER To: header

E. Is not specified in the REFER messages

Correct Answer: A

QUESTION 4

T-Lib messages can be mapped to all of the SIP messages listed below except which of the following?
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A. INVITE

B. UPDATE
C. REFER

D. REGISTER

Correct Answer: D

QUESTION 5

Which statements are correct? (Choose 2 answers)

A. It is possible to deploy a combination of standard TDM PBX(s) and sip server(s).

B. Genesys SIP server is capable of processing SIP signing and RTP/RTCP streams as well.

C. Customers who have a legacy PBX deployed and want to deploy Genesys SIP Server have to dismantle their legacy
infrastructure.

D. SIP Server supports the exchange of early media before a particular session is accepted.

Correct Answer: BD
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